
 Ei = 2.308 keV  ΔEg  ΔEt

Cryst Refl EB ΘB ∫ IR dΘ Width Ei cotΘ ΔE 2m, 50μm 2m, 50μm

(h,k,l) [keV] [°] [μrad] [μrad] [meV/μrad] [meV] [meV] [meV]

GaP (0,0,2) 2.275 80.26 320.7682 647.32 0.3962 256.45 4.95 256.5

GaAs (0,0,2) 2.193 71.83 0.5509 15.19 0.7573 11.5 9.47 14.9

LiNbO3 (0,-1,4) 2.266 79 386.803 448.3 0.449 201.11 5.61 201.19

LiNbO3 (0,1,-4) 2.266 79 362.173 448.3 0.449 201.11 5.61 201.19

LiNbO3 (1,-1,-4) 2.266 79 362.172 448.3 0.449 201.11 5.61 201.19

Equiv. Refl.: (0,2,0), (2,0,0)

Equiv. Refl.: (0,2,0), (2,0,0)

Equiv. Refl.: (1,0,4), (-1,1,4)

Equiv. Refl.: (-1,0,-4)


